
www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

7 8

1 119

3

4 5

6

14

10

12

2

13

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1, 4, 5 1 1 2

339012 
Magnet 12” electric 
Skin pack, includes 
spring & clip
Suits Left & Right Hand

 
339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

7 8

1 119

3

4 5

6

14

10

12

2

13

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14



7 8

1 119

3

4 5

6

14

10

12

2

13

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

www.alko.com.au LITALKOAUS00001

12

119

10

46

12” ELECTRIC DRUM BRAKE SERVICE PARTS

1 1 1 2

339300 
Magnet 12” electric 
Suits Left & Right Hand

339350 
Magnet 12” – AL-KO Off Road 
– LH

339355 
Magnet 12” – AL-KO Off Road 
– RH

339122 
Brake Shoe 12” electric – Primary 
(Front)

339123 
Brake Shoe 12” electric – 
Secondary (Rear)

339102 
Magnet clip – 10” electric (oval)

339110 
Magnet spring

3 4 5

339127
Shoe retainer cup & spring

6

1

3

7 8

4 5

6

13

2

14

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

7 8 9 10

339116
Lever arm left hand

339117
Lever arm right hand

390011
Mounting nut 3/8 UNF

339129
Park lever return spring

390015
Mounting bolt 3\8

339103
Adjuster plug

11 12

47

13

339128
Electric brake, Adjuster spring 
(Bottom)

14

390015
Washer 3/8 EXT shake proof

Helpful Hint:

For more comprehensive 
details of axle/stub axle 
machining profiles, 
please refer to the table 
on page 15

Helpful Hint:

Consider the benefits
by replacing an entire
backing plate rather than
replacing a few parts. It
may cost more however
it gives peace of mind
for all components &
in some cases quicker
to do.

45

Helpful Hint:
Consider the benefits 
by replacing an entire 
backing plate rather than 
replacing a few parts. It 
may cost more however 
it gives peace of mind 
for all components & 
in some cases quicker 
to do.

8

339103
10” Electric brake, Adjuster plug

190054 
10” Electric brake, Mounting 
washer 7/16” external shake 
proof

9

13 14

339102 
Magnet clip – 10” electric

339110 
Magnet spring

5 6

339114 
10” Electric brake, Magnet lever 
left hand

7

339115 
10” Electric brake, Magnet lever 
right hand

7

390021
10” Electric brake, Mounting nut 
7/16” UNF Zinc Plated

12

339130
10” Electric brake, Shoe retractor 
spring (Top)

339127
10” Electric brake, Shoe retainer 
cup & spring

10 11

339128
Electric brake, Adjuster spring 
(Bottom)

339129
10” Electric brake, Park lever 
return spring




